
Mathletes Problem of the Week #13 
 

 

  Hiroshi’s Coins 

 
In the 6 by 6 grid square shown above, each square contains a different positive integer. Hiroshi placed 
coins on some squares in the grid. No square had more than one coin. The total number of coins in 
each row and each column is indicated by the row and column labels written in bold.  
 

a) What numbers did Hiroshi place coins on?  
b) What is the sum of the numbers on which Hiroshi placed coins? 
c) Is there another possible solution? Try to find a different solution or show that one doesn’t 

exist. 
 

Solutions & Explanations: (Try one or try them all! Show your solution and explain your 
thinking here and on the back!) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Name _________________________________________________      Class ____________________ 
 
 (First and last name, please!)   Solutions due:  March 28h 


